I. Introduction

Understand what is Public Finance and what are the activities of the government (chapters 1 and 2). Also understand the difference between public assistance and social insurance.

Understand US expenditures by activities and relate US expenditures to other industrialized countries. 

II. Micro Review

Indifference Curves are curves connecting various market basket combinations of goods that make an individual equally happy.

Marginal Utility – for a good is the increase in utility we get from consuming one more unit of the good (keeping the consumption of other goods fixed).

Slope of the IC is called the Marginal Rate of Substitution between x and y, calculated MRSxy = MUx/MUy (we ignore the negative sign)

The budget constraint is the combination of goods that can be afforded by a person.

Consumer spending cannot exceed income

PxX + PyY = I (or Y = I/Py – Px/Py*X)

To maximize utility consumers choose a bundle on highest indifference curve that is still affordable
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At point A MRSxy > Px/Py; utility will increase if buy more X and less Y.

At point B MRSxy < Px/Py; utility will increase if buy less X and more Y.

Optimal bundle is at tangency – here at point C (be able to solve for it using calculus and show graphically).
Understand different “types” of IC (“goods”, “bads”, “neutral”, etc)
III. Efficiency
A. Exchange Efficiency:

Edgeworth Box –
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Any exchange that increases one person’s utility without making the other person worse off is a Pareto Improvement.

( Called exchange efficiency – where does this occur? 

( MRSAxy = MRSBxy 

( tangent IC

** There are an infinite number of PE (pareto efficient or pareto optimal) points.

· We call the locus of all pareto efficient points the contract curve. 

**But PE efficiency doesn’t imply equity – all points on contract curve are only efficient.

**Actual allocation depends on initial allocation and relative bargaining power.

 **KEY – we expect (in this simple economy) the two individuals to move to an efficient allocation on the contract curve through voluntary exchange. 

Also understand the relationship between the contract curve and the utilities possibilities curve.

B. Productive Efficiency 

Be able to use an edgeworth box (and understand the changes to axis!) for productive efficiency.

Productive efficiency occurs when 

( MRTSXLK = MRSYLK ( marginal rate of technical substitution are equal 

Be able to relate to the production possibilities curve.

Also be able to relate to the size of the edgeworth box used for exchange efficiency.

C. Product-Mix Efficiency

Product-Mix efficiency occurs when 

( MRSAxy = MRSBxy = MRTxy, marginal rate of transformation 

( tangent IC and same slope for PPC

D. Fundamental theorems of welfare
Know these and be able to example them in English.

IV. Market Failure
Explain the role for government when market failures exist. Also know the different types of failures, be able to explain when there is over or under production relative to the efficient quantity. 
Also include merit goods and income distribution to the government’s roles (but be sure you can explain that this is not a “market failure”.

Know the theory of the second best (and maybe relate it to the Lorax!)

V. Equity versus Efficiency

Utilities Possibilities Curve (trade-offs) 

Social Indifference Curve (utilitarian and rawlsianism)
Compensated and Ordinary Demand curves

Lump-sum taxes

Deadweight loss

Distributional Effects

Try the problems in the “questions and problems” section on page 118 (#1, #2, #3, #4, #5 and #6) ( I’ll post answers to these later.






